S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




€t abed

S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0'009¢

0°008¢

0°000€



L

7t abed

S =9MYM Sy =X3e|d 3[edS keaulT]

800¢ ‘T2 fep '2d 09V SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



Gt abed

S =9MYM Sy =X3e|d 3[edS keaulT]

800¢ ‘T2 fep '2d 09V SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



L

9t abed

S =9MYM Sy =X3e|d 3[edS keaulT]

800¢ ‘T2 fep '2d 09V SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



/1 obed

S =9MYM Sy =X3e|d 3[edS keaulT]

800¢ ‘T2 fep '2d 09V SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



8t abed

S =9MYM Sy =X3e|d 3[edS keaulT]

800¢ ‘T2 fep '2d 09V SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



6 obed

S =9MYM Sy =X3e|d 3[edS keaulT]

800¢ ‘T2 fep '2d 09V SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0'008¢

0°000¢



7S AN N L 7 SR /NG NI 7 S 7 SR SR
00

- 000c
- 000y
- 0009
- 0008
- 00001
- 0002t
- 000vT
- 00097
- 0008T
- 0°000c
- 0°00c¢
- 0°00tc
- 0°009¢
- 0008¢

| | | | , , | | , | , | | | | - 0000e
0S abed G=9lYM G =>3e|d ©°[edS Jeaul]

800¢ ‘T2 fep '2d 09V SN




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




X <.

XA.
.

o, o, 5 6o, . <o, Q. ) <o, 2o, ) X, K, X, . <X,
sov nwv »ov @%\, @%\, @%\/ @%\/ Q&, @&, @&, o@%\, 7 L7 L7 L7 L7

GG affed

S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0'009¢

0°008¢

0°000€



S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I




179 abed

S =9MYM Sy =X3e|d 3[edS keaulT]

8002 ‘T¥Z fep ‘zd OOV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0'009¢

0°008¢

0°000€



